
FC 250 2022 <2022><EU><F2101V1>
WIRING HARNESS

56672

Pos Part Number Description Additional Text Quantity

1 79111075100 Main wiring harness 2020 1.00

2 25111097000 Massekabel Rahmen-Batterie 1.00

3 25111059050 Batteriekabel 1.00

4 25111059000 Starterkabel 1.00

5 79111053000 battery 12V/24Wh 1.00

6 25111155000 Battery compartment 1.00

7 0017060206 SCREW F. PLASTIC K60X20AL SW6 2.00

8 59001092050 SPECIAL SCREW M6X12,5 WS=8 2.00

9 79111056000 battery support 1.00

10 55641030000 Holder control unit 2.00

11 77211034000 Voltage regulator 1.00



12 58211058000 Starter reley 12V 99 1.00

13 58011109110 Plug-in fuse, big 10A 2.00

14 0902060083 Oval head screw ISO 7380 M 6X8 1.00

15 77711035000 Capacitor 1.00

16 61111057000 RELAY CM1A-R-12V-H80 07 1.00

17 77240099000 Protection cap for starter eng 1.00

18 0985060003 Self lock. nut DIN985-M6-A2 1.00

19 77214098000 HOLDER INDICATOR LIGHT SX 1.00

20 81214083000 INDICATOR LIGHT LED YELLOW FI 1.00

21 44011076140 CABLE TIE 140/2,5MM BLACK 0.00

21 44011076200 CABLE TIE 200/3,6MM BLACK 0.00

21 44011076305 CABLE TIE 300/4,8MM BLACK 0.00

22 83013026000 Line guide 1.00

23 58111076000 CABLE SUPPORT KHS NR.150-47610 1.00

24 000700000AL001 Endconnector Can-Bus 2017 1.00

25 58211058050 BRACKET RUBBER F.STARTRELAY 07 1.00

26 79711013010 Cable bracket d8 1.00

27 0738060167 Oval head screw AH socket M6x1 1.00

28 000700000KO001 blind connector 1.00

29 79111053010 screw kit only for 79111053000 1.00


